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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 115.07

2. -55.9

3. 129.729

4. 74.14

5. 149.062

6. 116.008

7. -39.98

8. 120.6

9. -11.2

10. 62.436

11. 17

12. -46.9

13. 77

14. -21.443

15. 26.028

16. 14.07

17. 49.001

18. 125

19. 33.3

20. 125.3

Solve each problem

1) 66.07 - (-49) = 115.07

2) 21.8 + (-77.7) = -55.9

3) 84.029 - (-45.7) = 129.729

4) 8.07 - (-66.07) = 74.14

5) 86 - (-63.062) = 149.062

6) 70 + 46.008 = 116.008

7) 59.02 - 99 = -39.98

8) 82.6 + 38 = 120.6

9) 46 - 57.2 = -11.2

10) 27.036+ 35.4 = 62.436

11) 7 - (-10) = 17

12) 14.2 - 61.1 = -46.9

13) 91 - 14 = 77

14) 4.05 + (-25.493) = -21.443

15) 30.073 + (-4.045) = 26.028

16) 49.07 - 35 = 14.07

17) 20.001 - (-29) = 49.001

18) 95 - (-30) = 125

19) 83 + (-49.7) = 33.3

20) 27 - (-98.3) = 125.3
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Modified

Solve each problem

115.07 129.729 74.14 -11.2 17

116.008 -55.9 -46.9 62.436 149.062

-39.98 120.6

1) 66.07 - (-49) = 115.07

2) 21.8 + (-77.7) = -55.9

3) 84.029 - (-45.7) = 129.729

4) 8.07 - (-66.07) = 74.14

5) 86 - (-63.062) = 149.062

6) 70 + 46.008 = 116.008

7) 59.02 - 99 = -39.98

8) 82.6 + 38 = 120.6

9) 46 - 57.2 = -11.2

10) 27.036+ 35.4 = 62.436

11) 7 - (-10) = 17

12) 14.2 - 61.1 = -46.9

Answers
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5. 149.062

6. 116.008

7. -39.98

8. 120.6

9. -11.2

10. 62.436

11. 17

12. -46.9

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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